A £ 0l & AF & S

Al A

20258 =0ila eI EXNE 20
A EXNEE
g NSA NARU=ES NN A
el db2 EXNSEUE ¥+EY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EXEE 3,634,902 3,672,892 A37,990
= 822,199
== 65,927
Al 2,746,776
0EA NAHeES XA 2 3,457,860 3,482,829 A\24,969
= 822,199
< 65,927
Al 2,569,734
3be2 EXNSEd ¥22g 3,954 5,118 A1,164
Sged 7 X 29 3,954 5,118 A1,164
201 er23 | 3,954 5,118 1,164
01 At2teltl 3,954 5,118 1,164
Osgtiagsll EH & 43 7 1,732
—E&EUu 179,000 »2CH 4 2] 1,432
—a3 100,000 *32] 300
ONsgds & Izl 425 2 2,088
—ZBH EY, =" 2
174,000 »3CH*43] 2,088
OoEI| £28 79
16,7502 +23| x4 3 134
SSL HANHEN 2E X NEHSEHML 2| 2,133,729 2,542,109 408,380
= 572,199
Al 1,561,530
2Sd g2 =4 11,200 16,592 Ab,392
201 el 5,840 8,292 N2,452
01 At2teltl 5,840 8,292 N2,452
ORSUSHAMRA A SHHR &
e 500,000 <22 1,000
ORSLUBABHAL UZE M=
13,0002 %40 520
ORS¢ HRFAES st S200AHI
9,000& x4 *10€12& 4,320
202 04l 860 2,300 A1,440
01 2LHoIH 860 2,300 21,440
ORSMSHEA A2 s &= o]
20,0003 =2 =2 80
ORSe Hefjzel AIAE WS A 0]
60,0003 *3 180
ORsSdaEHMg4L 2J18 N8 A=
G1:] 10,0002 x3& x4 2 +42] 480
ORSAaHAHI FE AL SR 0]
10,0002 x 12 +4 2 <33 120
203 =2l 1,000 1,000
03 A=A PR S| 1,000 1,000




2A: EXEED

Ma: DEA DMDIEO| (MW
ol SSA HAEA BB U NNZSTLAY B2 GRS
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
ORs4 o (e 25
1,000,000 *14] 1,000
301 LPENF 2,800 5,000 A2,200
14 J|EtE A2 2,800 5,000 A2,200
OFs4tHH SifIald & SUSIHAIE <
gt Al TAZ 1,000,000 *23| 2,000
OFHotAl LI =S X2
20,000 x2Z 20 800
405 KHHESH| 700 0 700
01 AL =ZFSHI 700 0 700
ORSMARFE Zgly 7Y
700,000 +1CH 700
NESE 7Rl2el 384,646 385,371 AT25
201 B2 AY| 36,449 37,975 A1,526
01 A=R2teld| 36,449 37,975 A1,526
OXEIR2F AMNREE 7L 8A
—TgiH EY 293,000 *34 8H4
OXFIIEE 223 7Y 1,050
—NEEE 20T 45,0003 *10HA 450
—EXI0l=s ZoA 15,000 x40 600
OXNEHSR E2 HAH]
9,000 x3H+3L 123 972
O SUBEERAAE SXNES 19,781
—H/MW 160,728,710 %7% 11,252
—SW JI=XId &<t 710, 7503128 8,529
OFRSUEESRAAERI S
9,240,000& * 14 9,240
OXEI I SESSCIAIAE AH A7
612,000& * 14! 612
OXE=S =2 Xa
500,000 *43| 2,000
OSEXXY BTRE AAE SXE=x
1,900,000 14! 1,900
202 0idl 1,800 2,140 A340
01 =LHO4b 1,800 2,140 A340
OXIF2IZA XA
20,0003 =1« 11& 220
OXE=SL =2 A 04|
20,0003 x2F 113 440
ONEBBRBAAL FAEE O]
60,0003 *4H 2 L +23] 960
OENSH I} EA0HH]
60,000 *3H 180
207 AR | 20,000 20,000
02 AR 20,000 20,000




2A:

EXNEE L

Ma: DEA DMDIEO| (MW
ol SSA HAEA BB U NNZSTLAY B2 (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXNHIIES Hitat
20,000,000& » 14 20,000
308 AHXIEMSOIE 326,397 325,256 1,141
183 S| 2SO U ZB&HAEAIE 326,397 325,256 1141
ONEIIEE B2l U SHBEA
20,0003 x1,000& 20,000
OXESE U=dH|
45,50021%6, 7342 X 306,397
K= THZEALAL 484,19 591,407 A107,208
= 484,19
201 2= 23,057 28,162 Ab5,105
= 23,057
01 AtR2t2lHI 23,057 28,162 Ab5,105
OXIETHZAALY 22|
23,057,000 * 14! 23,057
= 23,057
308 AXIHS0IA 461,142 563,245 /102,103
= 461,142
18 SISO EAS A 461,142 563,245 /102,103
O2eaa TIETUEAAIR S|
461,142,000 x 14 461,142
= 461,142
IHEZSAIXIIE AL 2F 305,958 307,413 1,455
= 88,000
Al 217,958
101 @124H| 19,011 20,233 N1,222
= 6,000
Al 13,011
04 JIZtNZ22 NS+ 19,011 20,233 A1,222
OIHESAIXIIE ZAF J1ZEHIZ2 2 A 21 248] 19,011
—Jl2=s 80,2402 x1H*21 2«8 13,481
= 6.000
Al 7,481
-5+ 80,2402 18 »35& 2,809
—ReRdsdE 80,2402 x 1 » 10! 803
—4AUEE= 1,917,640 %1 1,918
201 et 3| 284,747 283,060 1,687
= 82,000
Al 202,747
01 AtR2t2lt] 284,747 283,060 1,687
OMESAIXIL HEXIL BE++=
45,8002 %5, 7642 X| %7 2% 190,074
= 73,000
Al 117,074




2A: EXEE
Ma: DEA DMDIEO| (MW
ol SSA HAEA BB U NNZSTLAY B2 (chol @)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OMNEZAIXIL OlsE KNIt AB+=2
45,8002 *3, 5002 X|*50%+*30% 24,045
= 9,000
Al 15,045
OMESAIXIIL 0|26l BE+2
45,800 *70& X|*50% 1,603
OMNESAIXIL ANE BE+=2
45,8002 *70& XI+50% 1,603
ORSMINIABNSIRS BaLg
100, 0003 7 B *43] 2,800
ORSLINASARAS doXts LM
25,0003 *30H 43 3,000
OMNEZAIXIL B S+ M=
66,0003 27 4 2 %23 3,564
OMNESAIXIIZEA E2H 225 7
284, 5002125 *23] 1,138
OIS SAIRIIIEAL B2 200 AH|
8,000 x5 x4« 123 1,920
ONLBLD E2AEXI} ZHEI} 248
1,416,250& x4 21 %43 22,660
ONLREZ IHeHIE BEEHH|
660,000 x7 24 *73] 32,340
202 04dl 2,200 4,120 21,920
01 =LHO4 b 2,200 4,120 21,920
OMNESAIRDL K& Agns A 0oyl
60,0002 x2H 2 240
OMNESAIXIL s A 0l
60,000 2 120
OMNESAIXIt ELEA EE &&
20,0003 *4H*203] 1,600
ongRga X0l
10,0002 x2% x 123 240
BONE=RPNESEES A7, 726 1,241,326 A293,600
201 Let2| 158,570 247,786 A89,216
01 ArR22teltl 125,669 210,985 AB5,316
02023 XIETHZAIAIE 283 0|28 E &
”NIH)AAD o
46,0002 * 160 X *20H 2 14,720
Q20243 NEMEAAIE =83 2EE It
=z X2 46,000 *980E! X[ *2JH 2~ 90, 160
020243 XIEMEAIAIY J1=& A
33,0002 *300& 9,900
OfIds &2 s 2,000
—ZAZHSIAS
100,000 x5 23] 1,000
—XNETHEALR &3
100,000& x5 % »23| 1,000




A EXNEE
B DEA DMOIEO| (NHH D
el REA HYTAN HE L URSSEMY 222 (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXNAMEAL EE2S M
5,000 #4507 *23] 4,500
O0tSE =2 =2 M
50,0003 *30H 1,500
O22H X 7 99,0002 +32] 297
OXNEM AL R S20HAH]
9,0003 6 4L« 12 2,592
02 S3=gHl 32,901 36,801 A3,900
OXNEMEAL HEE HES PC SERS
93,0002+ 122 1,116
OHIEZAIAE MI2E 2F(SII)
2, 7003 %8150 12& 26,406
OHIEZAIAE MX2E 2F (28
5502 +81501* 12 5,379
202 0o4dl 1,720 3,080 21,360
01 =LHNHI 1,720 3,080 1,360
OXEMEAL 219 & WS F4 0|
60,0002 x3& +23] 360
OXIETHEAF SEXZA & A 0|
20,0003 38 »202] 1,200
ONEMEA AT SANED S0
10,0002 x22& +83] 160
301 EetE2 N = 787,436 990,460 A203,024
14 JIEt 243 787,436 990,460 A203,024
Oud T XHMEAMNY ZH=
287,436,000 x14] 287,436
02023 KIETHEAIAIY &=
500,000,000 * 14 500,000
CRHFARHAY 375,223 270,368 104,855
= 65,927
Al 309,296
A RO0AY =N 348,223 238,868 109,355
=S 59,927
Al 288,296
201 fer=3| 18,778 24,095 Nb, 277
01 AtR2t2|HI 18,298 23,575 Nb, 277
OS2HFL(NY)IARS 5lo| FH2Y
100,000 4 & »23] 800
OS2gZ4 SOAYER Mg S2OHAY|
9,000 x3 4L« 12 1,296
OE2EF4 28 822 MH
500,000 22 1,000
Od=sHSE BHHIE € B8NS 7
6,500 *400H 2,600
OFAFE 29 AY E2H A2E 7Y
128,000& x25+33] 768




2A:

Ma: DEA DMOIEO| (MW
el E2EFAF0AY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OS2oTL ASHSE 2 2= X
10024 +4,000% 400
OZ2YFA STAAY RN 244)
79,4002 x 1204~ 128 11,434
02 s3=gHl 480 480 0
OFAZE HUHANEE LHEAS HER O
Stie= 20,000 =20 =122 480
202 04l 1,080 3,060 21,980
01 K01t 1,080 3,060 ~1,980
OZ2YFA ROAY SYDS F40/H|
60,0003 »2&»2 240
OS2YZ4 ¢L 3 EH40Y
60,0002 x2&+2& 240
OFAEE HUANEESS LHZA &X
2104 20,0002 x3& 102 600
308 AHXIEMSOIH 93,438 126,753 A33,315
18 SIS0t HAS A 93,438 126,753 A33,315
OFadBael AIAEI(KAIS) X2
42,318,000 x 14 42,318
OFAZEI|2 et At
51,120,000& * 14! 51,120
401 Al HIZL 201 234,927 85,000 149,927
= 59,927
Al 175,000
01 Al&HI 234,927 85,000 149,927
O=2H=4 oY AIEdE £X
139,854 #5004 2 69,927
= 9,927
Al 60,000
Ok= A=S¢sE wAH
20,0002 *7,500H 150,000
< 50,000
Al 100,000
OE2YFA QHUALE SXE4
100,000 #5094 2 5,000
OAlEF=4at 4X) 100,000 * 10094 2 10,000
HAEZ AIEE 2l 27,000 31,500 24,500
< 6,000
Al 21,000
401 Al HIZL 201 27,000 31,500 24,500
= 6,000
Al 21,000
01 Al&H| 27,000 31,500 4,500
OtEAILUS =) E X
2,700,000 * 107K 27,000
= 6,000




2A: EXEED

Ma: DEA DMOIEO| (MW
el E2EFAF0AY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| | Al 21,000
SUEEANAE A5 2 22 944,954 665,234 279,720
= 250,000
Al 694,954
SUEEAAE 2F 245t 944,954 665,234 279,720
= 250,000
Al 694,954
201 er23 | 111,234 11,234
01 At2teltl 11,234 111,234
OAZEN P (VBHHE, JeHH)
575,000 *37H 1,725
OFMA ADE(WACIAT T2l S) 2L
150,000 22 300
O32EE AAE B2
3,783,330&x 128 45,400
Od X L(SHOIN) I 2=
350,000 x 122 4,200
ORNBAHLAIAHY KISHALE Serat
cIAIAE RXI2+ 4,034,067 128 48,409
O=tSAEEAAY ERI MEZ2 HAZ=+
11,200,000 * 14| 11,200
202 04l 720 1,000 2280
01 =LHAHI 720 1,000 A280
O32EE 39 & WsEA
60,0002 x2EH 22 +23] 480
OSUHEEAIAE A= MOILH & #IXI0H
60,0002 +1 %22 120
OBAHS B L =0l
20,0003 »2E =32 120
401 AlEHIZ S 0HbI 833,000 353,000 480,000
= 250,000
Al 583,000
01 AlZ2H| 833,000 353,000 480,000
OXIGIAIE S (& .5l+=E) 88 =3, HAAIY
833,000,000 *14] 833,000
= 250,000
Al 583,000
HH2IIH(EXNFEED) 175,977 188,998 /13,021
elIE =g 103,248 106,946 N2,698
ol =gl 103,248 105,946 A2,698
101 21A4H| 103,248 105,946 A2,698
01 2= 103,248 105,946 A2,698
OAl2I22+E
11,9502 x24H*30A| 2+ 123 103,248
Jl=3H 72,729 83,052 /10,323




2A: EXNZED

M HERHUHH(EXNZED)

&el: Jl=Z| EEED
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
J|123&H| 72,729 83,052 A10,323

201 L2 | 25,929 32,892 6,963
01 Ar22eltl 13,961 17,432 A3,471
ONZEY ¢2 U JI=U22 SASK 7
2 3,250
—A3EX 26,0003 »58F A 130
—MEX] 26,0003 x202 A+63| 3,120
OCIXIE =AD& D12 diz X2 5,551
—CXE s SAD|
1,711,000 *1CH 1,711
—OINE 2ot SAD
2,640,000 *1CH 2,640
—CXE =SAD| 8 FIIAMEZ
100,000& x 123 1,200
OJl2 AMRESEHI 300,0002 123 3,600
Ol 2% =52l 130,000 122 1,560
2 S=29| 11,968 15,460 A3,492
OEXNHEE dRFH RER= 11,268
—SJIRH 2,530 30001+ 12& 9,108
—gsen 45021 %4000} * 122 2,160
OX=oIg 2el 2 ALHHA SRS/
700,000& 13l 700
202 04d| 42,000 45,360 A3,360
01 =WOdbI 42,000 45,360 A3,360
OJI=BUSE O
140,0002 x5« 123 42,000
203 PRF=&H| 4,800 4,800
M RA2GHRFALI 4,800 4,800
ORN2IYRFLI
400,000& 122 4,800
HRES(EXNFE) 1,065 1,065 0
SEXE 1,065 1,065 0
BHEXE 1,065 1,065 0
802 Btz J|EL 1,065 1,065 0
03 JIEtEtEt =S 1,085 1,065 0
ONERLS x| YN 22 833
3,130,000 0. 2%+ 170 1,065




